IERRRR

X # CT BEHIHE 27 % 2 b (HRILEQI9 )5 7 1 HFSHE 4 1 IR

P.71 #%3-3
(FTIERT)
k (mSv/mGy * cm)
ilf DA
0 % 1% 5 ik 10 % IDYN
GIEREERA 0.013 0.0085 0.0057 0.0042 0.0031
SHER 0.011 0.0067 0.0040 0.0032 0.0021
SHEK 0.017 0.012 0.011 0.079 0.059
He S 0.039 0.026 0.018 0.013 0.014
HEHE - AR 0.049 0.030 0.020 0.015 0.015
AREEER 0.044 0.028 0.019 0.014 0.015
GTIERR) BIERET % AEH %
. k (mSv/mGy * cm)
02
0 % 1% 5 ik 10 % IBYN
FIEEER 0.013 0.0085 0.0057 0.0042 0.0031
HER 0.011 0.0067 0.0040 0.0032 0.0021
SHEK 0.017 0.012 0.011 0.0079 0.0059
He 5 0.039 0.026 0.018 0.013 0.014
HEHE - AR 0.049 0.030 0.020 0.015 0.015
aNzatl 0.044 0.028 0.019 0.014 0.015




